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OPERATOR STEEL PLANT Level 1

Q 1) In the workplace code of practice, the first aid should not contain/ BT DI Eh—l'ifﬂ'%ﬂ'l ﬁ, Ik gRE&T
| EEERIEINY

1) crepe bandages/ Q) q'@'cﬂ

2) adhesive tape/ SIS uel

3) Non-adhesive dressings/ R o= aran 31%11
TN

4) medications/
Q 2) As per 58S concept, shitsuke means/ 5S SAYRUI & SIUR, WWW%—

1) Sort/ T8
2) Set in order / JUTRITH @a@ﬁmﬁ)
3) Shine /

4) Sustain/ ¥d-3{JRMHT

Q 3) In presence of which gas is the fuel burnt to generate energy in form of heat?/ g g o SufRufq & arg
& FUH SHoll U1 X & 17T S8 ST @Ud el o7

1) Oxygen/ NIEHITE]
2) Hydrogen/ @ $§;|GI:|

3) Methane/ YT

4) Nitrogen/ 33; T

Q4 Which%fuel is used widely in steam power plants?/ HTU TIfed GO H R é?FT BT TS ¥ F STIRT
fopa ST 82

1) oil/ dd

2) Gas/ 1

3) Coal/ ST

4) Petroleum/ ﬁ@ﬁ’qﬂ

Q 5) On what basis is the coal classified?/ PHIIAT [T YR TR a"m ICRRSIGI %?

1) Period of formation/ T CAREIR]

2) Depending on capacity to burn/ YU T & & YR TR

3) Region/area where is it formed/ m/ éﬂa Gﬁw RG] @?ﬂ %
4) Physical and chemical composition/ Wifde SR IR G

Q 6) The tool life increases with the/ 3SR & Shaafey & Y Eﬁ_cﬁ %|

1) Increase in side cutting edge angle/ 9IS FHIETTA T H ded
2) Decrease in side rake angle/ HIETS"W wrd Hgerdt

3) Decrease in nose radius/ o ST | gerdt

4) Decrease in back rake angle/ CEZREY T o gerdt

Q7 %Vhich of these hand tools is used for measurement? / sﬂ'ﬁ I Eﬁ:mT IR \31 SR AU & ﬁfq TN fHar
SIIdl 82

1) Chisel/ &1
2) Hacksaw/ WIeT PIe B AR

3) Steel rule/ STTA TAMT
4) Dril biv/ f$ fae

Q 8) One decimeter equals / T SHHeR & SRIER gIell %\

1) 1 meter/ 1 Hiex
2) 0.1 meter/ 0.1 Hex
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3) 0.01 meter/ 0.01 Hiex

4) none of these/ ERLES) aﬂ‘s‘ T8l

Q 9) Normal force acting per unit cross sectional area is called/ ufd U;&I_C' P e &F TR T a1l g
I HEAN g

1) Weight/ HRR

2) Pressure/ GI§

3) Volume/ gfHTor
4) Friction/ gyor

Q 10) Which of the following can be used for measuring temperature?/ dTdHIT ®! AT & ford g 1 foraet
TRINT 35T & el &7

1) Metallic diaphragm/ YTq STATLTH

2) Fluid expansion system/ 9 [EESRE ]|
3) Capsule/

4) Bourdon tube/ CIER] _d

Q 11) A measurement which on repetition gives same or nearly same result is called/ U HIU ST GIEE STH R
T 1 T T € TRoms a1 EZRINIE

1) Accurate measurement/ SEEIS

2) Average measurement/ 3 gd A

3) Precise measurement/ e AI

4) Estimated measurement/ \}HJ:ITﬁFT HY

Q 12) Which of these is equal to the differences of the two limits of size of the part? / ERtE DI TS F
THR BT &1 THTST F 3R & RIS 52

1) Tolerance/ [SESS] (&)
2) Low limit/ g

3) High limit/ 3= ST

4) Design size/ %Tlﬂé_"f SHTHR

Q 13) What is the highest possible transmission voltage in India?/ HIRd T IdH YT FoRUT dlees! &l %‘?

1) 675 kV/ 675 fob.aT.
2) 765 kV/ 765 fob aT.
3)132kv/ 132 fhan
4) 440 kV/ 440 T aT.

Q 14) Which type of system is generally adopted for the generation and transmission of electrical power?/

fagydta 90 & I 3R YeRUI & AU S THR 1 Tl TR TR TS STt 82

1) 3 phase 4 wire/ 3 Bl 4 dR
2) 2 phase 3 wire/ 2 Bl 3 @R
3) 3 phase 3 wire/ 3 Bl 3 AR

4) none of these/ ST A DS ol
Q 15) PLC stands for/ PIERIES] e §-

1) Programmable logic controller/ IUaed affoid ﬁ?ﬂ
2) Peripheral logic controller/ IRt drfordh W
3) Pneumatic logic controller/ GHfC®H oI W
4) Periodic logic controller/ mmm

Q 16) PLC having less than......... inputs and outputs are called as small PLC/ IHY <14c 9 3{13cYc
g Uieerd! &1 BIct Yiuas g1 Sl o)
1) 50
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2) 100
3) 150
4) 200

Q 17) Which of the following are functions of bearings?/ [BER R AR ERIE:D W%V

1) Ensure free rotation of shaft with minimum friction/ AdH Yo fed AR & Had ‘EI;U&T Call ﬁﬁﬁiﬁ Pl
2) Holding shaft in a correct position/ RITHC AR ARG R:| bl

3) Transmit the force of the shaft to the frame/ RIT¥C DT T Y &I GaTiRd BT

4) all of these/ I FHY

Q 18) Which of the following is not true about gears?/ R & g o ﬁ'ﬂ =i ﬁw qg '_‘%3[ %?

1) Positive drive/ TI[cd S13d

2) Constant velocity ratio/ RRam STUTd

3) Transmit large power/ 3T AT H g AT HRAT
4) Bulky construction/ YR fmor

Q 19) Which fluid is used in hydraulic power systems?/ B3 Seid Lfdd TUITe & HIHT & Ugad g1l 82

1) water / LIE]]

2) oil/ dd

3) non-compressible fluid/ R ﬂtﬁ%ﬁ @d
4) all of these/ T FHY

Q 20) Which of the following is used as a component in hydraulic power unit?/ BE@W fad tjﬁ_c' Afgay
DI U Uh & U W e gl 82

1) pressure gauge/ GId i)
2) filler gauge/ PR W
3) valve/ dlcd

4) reservoir/ ﬁ

Q 21) Pumps used in hydraulic applications are/ ET%'@W &fﬂ'mﬁf | W g ara 4 g %|

1) positive displacement pumps/ uifeifea fewiade 1
2) variable displacement pumps/ ARTSd fSTRIgHE UT
3) fixed displacement pumps / firers fewiadie du

4) all of these/ T FHY

Q 22) Which type of pump is used for lifting water from the ground surface to the top of the building?/ DY

PR BT U0 IR B! ad Jdg J Y db U1 1 A T & forg v faan Sirar g2
1) centrifugal pump/mm

2) turbine pump/ XIS ug
3) submersible pump/ geaiiad 4y
4) all of these/ Rkl

Q 23) Lubricating oil/ Afsih T da

1) Minimizes wear in moving parts/ 9¢l U o forra 1 1 xar %
2) Helps in keeping the parts cool/ YT @I 38T 3G & HGG Bl g
3) Washes away and carries away dirt/ ¢ DI gigard X SESIGIE
4) all of these/ T FHY

Q 24) On increasing the lubrication, the efficiency of the machine/ e a%ﬁ R, AR 1 qerdm %|

1) Increases/ aa—cﬁ
2) Decreases/ gedr

3) Remain same/ JHIA Tt
4) Does not get affected/ THTIAd gl gIcht
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Q 25) An instrument which detects electric voltage is known as/ dg 3UH U] St ﬁ?ﬁm CARGIRSEIGIK
& ATH Y ST ST |

1) Ammeter/ TR
2) Voltmeter/ ey
3) Wattmeter/ qredier
4) Rheostat/ Jeree

Q 26) The S.L. unit of power is/ foTcl &1 TH.3MTE. IHTS §-

1) Henry/ %qé
2) Coulomb/ el
3) Watt/ dlc

4) Watt-hour/ dTe-geT
Q 27) Inductance is measured in / ReHd T AT ST %|

1) Ohm/ 31
2) Henry/ RN
3) Farad/ s

4) none of these/ T Y P TR
Q 28) Correct form of ohm s law is/ 31 & W HT TG T §-

1)I=VR
2)R=VI
3)V=IR

4) none of these/ E:I'E[ q aﬁ% Tal
Q 29) Cavitation is a process of/ Q%W (%ﬁm P gfehar %|

1) Liquid formation/ dX¢f TS
2) Vapor formation/ dT™ 7T&-
3) Liquid formation and Vapor formation both/dX¢f T3 3R TS TS gl

4) none of these/ 3_'1'3[ I a"ﬂé :Iésf
Q 30) Identify the incorrect statement regarding aeration process/ Al ufhar g \_gl,% A ®YF B ggaH aﬁ\

1) It removes taste and odor/ Ug ¥dlq 3R 7i¢ B geTaT 8

2) It increases the dissolved oxygen content of water/ g Ut &1 faafed sifefte amn &) Jeldl %
3) It increases the carbon dioxide content of water/ Ig U Bt Ble 313'3{\@133 AET B deldl %
4) Tt is used for mixing chemicals with water/ Ig g 7 39 &) e & &1 ST |

Q 31) Electronic multimeter measures/ E@Im Tecier HIYdT %|

1) voltage, current and resistance/ m, Udlg 3R ufeRiY
2) voltage and current/ dleesl GﬁT I'GIR

3) current and power/ Ydlg 3R faoelt

4) energy and power/ St 3R faroreht

Q 32) Electric motor changes electrical energy into/ ﬁ?{lﬁ qiex ﬁm’q STl &l T 9ad &l %|
1) Potential energy/ fufasr ut

2) Thermal energy/
3) Heat energy/ g Soif
4) Kinetic energy/ TSt ot

Q 33) Which among these is a method of wiring?/ Lk DI I ot fafdy %‘?
1) Joint box/ \_YTVIE_C' GIE
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2) Tee system/ ¢l gorredt
3) Loop in system/ Rrea d qu
4) all of these/ Tt

Q 34) In case of direct current(D.C.)/ oy T (ff . ﬁf.) & A B-

1) magnitude and direction of current remains constant/ gfHTor 3R vraTe @) fan fRR w8

2) magnitude and direction of current changes with time/ URATOT 3R TaTe &1 =M 9T & 1Y Seadl §
3) magnitude of current changes with time/ Udlg I URHATO §HT & WY Sl §

4) magnitude of current remains constant/ Ydlg Tl g RR AT

Q 35) SMPS is used for/ THUAYITH & fo ygaa ST g

1) obtaining controlled ac power supply/ fdfd wat fooret Gﬂ'Qj%f DI AT HRAT
2) obtaining controlled dc power supply/ i St fosrett 3‘|TC|°'% B U HAT
3) storage of dc power/ SIGIEERIEIRISRY

4) switch from one source to another/ Udh wa m ORIl

Q 36) Which of these sets of logic gates are designated as universal gates?/ H I Al T Bl DI e
e T @1 e feseH far man g2

1) NOR, NAND

2) XOR, NOR, NAND
3) OR, NOT, AND

4) NOR, NAND, XNOR

Q 37) Which is not a basic refractory ?/ T O ST Heryd TRl gt 82

1) Dolomite/ STAMEC
2) Silicon carbide/ IBINEDE] WTE@’
3) Chrome magnesite/ B ﬁm

4) Magnesite/

Q 38) Fireclay bricks are not used in the/ IR _&% o U :|€[Eb°[ \_rl'l?m

1) beehive coke oven/ FIRECKAERCICE
2) by-product coke oven walls/ P 3G aTd & IUIUIG

3) combustion chamber of B.F. Stoves/ Eﬂ'Q'Q‘T TWad® Go hEl
4) coke oven regenerators/ Pid 3T R Rex

Q 39) WWW stands for 7/ Sxgg&gesd U 3T &-

1) World Whole Web/ I8 81 a8
2) Wide World Web/ AT S d¢s a9
3) Web World Wide/ 39 978 d138
4) World Wide Web/ a¢S d13S 99

Q 40) Where is RAM located 23| ﬁ\f@ﬁf grdt %?

1) Expansion Board/ IEESIREEIS]

2) External Drive/ aﬁﬁ gled
3) Mother Board/ HaX CIE]

4) none of these/ ST A DIS o

Q 41) In which mode of heat transfer medium is not required? /nﬁfgr-‘aw & fohy His T H1eqw Ta=ad gt
&

1) Radiation / fafazor
2) Convection / g

3) Conduction / UdTghtd
4) none of these / Sk Ebﬁé T8l
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Q 42) What is the relation between the volume of the cylinder and volume of cone having same radius and same

height? / T FSaT 3R THM $aTs arat U Rifeisx afeqd iR &1 dleqd & st 1 Gaie 82

1) Vol Cylinder = 3 Vol of cone /Wﬁ?{q =3 aﬁ?ﬁqﬁr
2) Vol Cylinder = 2 Vol Cone / RydeR ﬁ?{q =2PH Eﬁ?ﬂ}[
3) Vol Cylinder = Vol Cone/3 AGNER a:l%\’{q =P ﬁ?{q /3
4) Vol Cylinder = Vol Cone/2 / RydeR ﬁ?\’{q =D ﬁ?{q /2

Q 43) 1 HP is how much in Watts? / 1 HP a1 ¥ faraT1 81a1 82

1) 746 W
2) 748 W
3) 500 W
4) 1000 W

Q 44) Pyrogeter is used to measure temperatures. / msi e &1 IUTHT AMIH DI AT & fom
IERICICIE

1) Very high / §gd 3{fd
2) very low / dgd H

3) moderate / H&IH

4) low / BH

Q 45) Tempering is done to improve ./ /R Ca aE?R CRIEK:] 1%‘1? o ar Sram % [

1) toughness and ductility / WI_&F 3R TR
2) brittleness and hardness / HRdl 3R HERAT
3) machinability / A=Y &

4) malleability / §G- P ATl

Q 46) Name the principle types of axonometric projections. / Ea%ﬁﬁ% &Y & fRAgid UHRI &1 91 gdig|

1) Isometric, dimetric, trimetric / mﬁ% R @@@E, §I§ﬂ@$

2) Auxiliary, orthographic, oblique / SHTTeaR], ST, Sfadiid

3) Auxiliary, orthographic, isometric / Giﬁ?qﬁ, 3f W, mﬁﬁ;ﬁ
4) isometric, dimetric, oblique / &mﬁw, W, NICSica

Q 47) Normalising occurs at what temperatures? / Arda i forg aro TR g %‘?

1) 30-50 degree above upper critical temperature / SR Hifdew agqE T 30-50 S FWR
2) 30-50 degree below upper critical temperature / SR Hifdd argH= ¥ 30-50 f&3H A
3) 30-50 degree above lower critical temperature / 9 wifde® aoHE T 30-50 TS IR
4) 30-50 degree below lower critical temperature / g wifde dHE ¥ 30-50 f$t 9

Q 48) Which of the following Pressures are known as negative pressure? / fofafea & @ @ 91 garg
THRIHD GaTd & FU H ST STl 52

1) vacuum pressure / airq;q GEIC]
2) absolute pressure / F[Uf GEIC]

3) atmospheric pressure / GTQII'USFﬂ'q adid

4) gauge pressure / IS ga1d

Q 49) At What temperature open hearth furnace operates? / g qUHE WR 3figA ETQf ‘3-@ TTerd gidt %‘?
1) 1750°C

2) 200°C

3) 2000°C

4)500°C

Q 50) Pascal law is defined for fluids / ORGP FIH &I WA e &F fere ufewnfra fosar man % I
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1) static / RR
2) dynamic /7 SR
3) both static and dynamic / T RR SR fasfa

4) laminar

Q 51) What is the unit of Specific weight? /ﬁﬁTg YR DI QTIFIEE T %?

1) Newton/m?
2) Newton/m2
3) kg/m?
4) kg/m

Q 52) What are the different types of Rivet joint? / Ydc \_rh_s' & ot ypR 82

1) Lap, Butt/ étr, qdc
2) Screw, Lap / ¥, T
3) Lead screws, butt / TS P, dc

4) none of these / Y avﬁé Tl
Q 53) Why are Caulking and fullering useful? / HIHT 3R @(‘1'3‘ Iganft & %?

1) provide leak-proof joints / fama fga Gﬂ's’ & &d %
2) cost less / P H NTd

3) easy fastners / 3T Ha (PRER)

4) easily manufactured / T & g _Eﬁ%f %

Q 54) What is the function of set screws ? /qe XD h HTd 1 82

1) Semi-permanent fastners to hold Collars, sheave, pulley, gears on a rotating shaft / Tdh ‘Ej:ﬁlﬁ el MR TR
DY, 34, geft, TR twe & fa sid-wmft vrReR

2) permanent fastners to hold Collars, sheave, pulley, gears on a rotating shaft / T ‘EE:I%T el AMIE IR m,
TMa, gait, TR udhe & for ®rlt s

3) permanent fastners to hold Collars, sheave, pulley, gears on a stationary shaft / YT ] IR m, g,
qoft, iR gere & o Rl ek

4) Semi-permanent fastners to oppose the motion of a rotating shaft / T ‘g[qff ITal AT Dt 71 BT ARy B
& forg sl wrReR

Q 55) The current variation in AC is of which form? / T & ®¥e uRad= fbg ®u d 82

1) Sine waveform / 1S LU
2) cosine waveform / ﬁw T

3) tan waveform / ekl
4) straight line form / dft @ F Fud

Q 56) How many solutions can be obtained from a missing line of views while reading a drawing? / =2 ua?r

g T} & Ueh ST T ¥ fhdm qaTem UTe e S Iavd 82

1) Multiple solutions / Hs JHYT

2) Single solutions / Tdh el JHTUTT

3) no solutions / ﬁé HHTYTT :TSQI

4) only two solutions / &HId gl JHTYH

Q 57) The standard belt thickness ranges from ./ e DI G Iﬁ?l‘sc e @T‘ﬁ %I

1) 5-12 mm

2) 10-12mm

3) 5-10mm

4) 1-7mm

Q 58) what is the peripheral velocity for medium velocity gears? / H&H a7 iR & forw uRefg o aan %?
1) 3-15m/s
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2) 1-3 m/s
3) 15-20 m/s
4) 50-80 m/s

Q 59) What is the advantage of using gear drives? / TR S18d 1 SUANT H3 BT HT BAGT 7

1) transmits exactly same Velocity Ratio / w cRkUl S{UId & UTRd AT §
2) transmits less power / PH IEENIERIEGERGI %

3) low cost of manufacturing / fafmfor & &9 amra

4) larger in size / HTHR o ES

Q 60) The power produced at the output shaft is : / 3HCYC VMHE U I ad 3ol %z

1) Brake power / NF Sl

2) indicated power / Topford St

3) Hydraulic power / B'IE@W St
4) thermal power / i It

Q 61) If a frustum of a cone has a radii R & r (R>r) and height x, then its volume is : /afg Q'I@ %W Heq o
& BT R 3R r (R>r) 3R ST x &, ) 3BT G- 8N -

1) © (R*+ Rr +1?)/3
2)  (R*+ Rr +12)

3) 3n (R*+ Rr + 1)
4)n (R* Rr +r?)/2

Q 62) Drawing board “D1”comes in standard dimension of (LxWxXT inmm) / 7 S DI & AFS
MM (LxWxT ot ) & smar 21

1) 1000x700x25
2) 700x500x15
3) 1500x1000x25
4) 600x350x10

Q 63) In 3rd angle projection / 3 SHIOT H&ToT (qé Wﬁﬂ@m o

1) left is on left side view / STAT, 913 3R P T R §

2) In former, left is on right side view / ll'q‘f[’ EITCﬁ, Elg N BT WR %
3) Left is on top side view / EITqu, I R B T W %

4) left is on rear side view / §|T5ﬁ, NS P R B T WR %

Q 64) How is Kelvin scale related to Celcius scale? / P Wrd AT Wd T HY Tefdd 82

1) Temperature (K) = temp ("C ) + 273 / dIJH (K) = dIUHIT (°C ) + 273
2) Temperature (K) = temp ("C ) - 273 / dIUHIT (K) = dIUHIF (°C ) - 273
3) Temperature (K) = temp ("C ) /273 / dUHT (K) = dYHIT (°C ) /273
4) Temperature (K) = temp ("C ) *273 / dUHA (K) = dIYH (°C ) *273

Q 65) Gear ratio is defined as: /R S{JUTd %Wﬁqﬁlﬂﬁﬂm"ﬂ[%l

1) Teeth of Driven wheel/teeth of driver / gferd q%n & gid / dTddh > gid

2) Angular velocity of Driven wheel/teeth of driver / TTferd UfeU &1 HIvig o7 / I1Ad & &id
3) Teeth of Driver wheel/teeth of driven / dIcid q'%'q & gid/ Tiferd agid

4) diameter of Driver wheel/diameter of driven / dTcIdh m‘%u BT AN / FTferd BT T

Q 66) At what temperature does celcius and fahrenheit scale has same value? / g aoaH R J&fiay iR
W IR G T 81T 82

1) -44
2) 40

3) 100
4) 105
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Q 67) When a body has both linear and angular motion, then the total Kinetic energy of the body is : / SI§ [El]

%G H @ SR By TIf ST BTl 8, o g 1 Pt TSt SHoll gieht §

1) (mv? + [w?) / 2
2) (mv?)/ 2

3) (e?) /2

4) mgh

Q 68) What is strain energy? /@ff Q:lTrFf?lP:IT %?

1) Potential energy stored by elasric body / TARe®H a¥d gR_T Tueid RUfaST 3ol
2) kinetic energy stored by elastic body | ZARESD aﬁ §'RT TURId Tfasl 3ol

3) total energy of the elastic body / §
4) energy stored by normal energy / HTHRI FRESPIRS EGIi

Q 69) Instrument for measuring pressure is: / G8d O &1 FUHRT %s
1) Barometer / SRR

2) pyrometer /
3) thermometer /
4) micrometer /

Q 70) The principle of centrifugal pump is: / @'_@TR{["I?‘I T &1 Rigid %:

1) conversion of rotational kinetic energy to hydrodynamic energy of the fluid / q:Uf:T T ol BT &g
HESIEIRRIECRC ISR RS IGRY

2) fluid energy to kinetic energy / dXdl Solt et Swit

3) electrical energy to hydrodynamic energy / [dg ol E'E@grq?m ol

4) potential energy to kinetic energy / IRIGE Y i SHolf

% 71) What is the disadvantage of using Hydraulic systems? / E@ﬁﬁa ReH &1 ST & BT RERIBERI
9

1) large space requirement / EIT':[ AT DI Al
2) very noisy / §gd R

3) hazadeous environment / W dXTdh IATARIT

4) low efficiency / PH &HdT

Q 72) why is coke used in the blast furnace? / &IIXC T § DI BT IUTNT &) fobaT ST %?

1) to remove the slag/ﬂﬁﬁﬁﬁﬁﬁ%ﬁﬂ

2) to be used as combustion fluid / WWW&%W"&WWW%
3)used as a ﬁltrate/WWﬂ?%Wﬁ%ﬁWWW%

4) to form alloy/&l’}[ ‘angaﬂﬁéaﬁm

Q 73) BIT stand for: / BJT &1 HITS &:

1) Bipolar transistor / E@ﬂﬁ? m

2) Brass Junction transistor / ST ST E\TW
3) Basic transistor / éﬁmaﬁﬂa

4) Bimodal transmitter / m@a E'N'Fﬂa

Q 74) What are the functions of Fans and blowers ? / T 3R AR & B %?

1) to deliver air at high velocity but low static pressure / 3= T Af HH WfIF A R gAT S & fom
2) to deliver air at low rate / HH &R TR gdT Ug I

3) to increase the pressure / G&Id EIE'Ief & foag

4) to decrease temperature / ATJHIT P HY B & oy

Q 75) While drawing the single stroke inclined capital letter what is the most important thing to keep in mind? /

Riva W gaazs Bfted deR forad T e o T-aTel Jad HAgayul a1d 31 82

X
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1) keeping slope uniform / &I Uh JHH IGT

2) slope should be non uniform / ¢l UHJHH 7‘|€f a:ﬂ T:lT%'Q
3) curves can be avoided / dsh ECEISIRSE %

4) letters should be kept far away /&R B [FARLEIIEH ElIY

Q 76) What does datum consist of? / S H o1 M 82

1) a point or a plane derived from true geometry / eI SaTafd ¥ 309 Th ﬁ_g" grdde
2) oblique palne / foRe! gag

3) plane from imaginary geometry / PIeai-e SAafd I g

4) centre lines / % WTQ

Q 77) What is the purpose of using a Reference? / Udh Hef BT IUTNT HA & G%Qtl Rl %?

1) to provide dimension without tolerance used for information only / FHad DRl & o Iug &t T arelt
TR o T SHTATH T AT

2) to provide dimension with tolerance / TIAY & 1Y T U™ BT

3) to provide dimension with feature / BIaR & 1Y SATH UGH BT

4) to give it a functional feature / Ex| PRSP BaR ol

Q 78) What is parallel dimensioning? / HHIAR HIUH T %‘?

1) number of dimensions of a part have common datum feature / U BRI & ST & ¥ ¥ 31 Scd ﬁﬁ?ﬂ

2) increased size of datum / STH & MHR A q@'
3) decreased size of datum / STH & HR § HH
4) none of these / sqfr ﬁabalé b} 7‘%)[

Q 79) What is the purpose of using centre line in isometric projection? / AR TaTu § &g 3@ BT START
F BT eI AT 52

1) to maintain symmetry / HX™U[ d4T¢ @ & forg
2) redundant dimension / 3-TdRYH ATIH

3) Chain Dimension / < e

4) basic dimension / §ITE STATH

Q 80) Optoisolator is combination of / TPI3MEAAeR BT I §

1) LED and photodiode / TAS3! 3R BIEISTIS

2) tunnel diode and photodiode / C1¢1 IS 3R BIesHs
3) LED and tunnel diode / Qﬂg@ﬁ 3R T S

4) Zenner and tunnel diode / IR 3R 7d SIS

Q381 Whic%h fuel gas is used for cutting deep underwater? / Ut & 3R TIETI% ECarek:d 1%‘1? g _stﬂ:f ﬁg Dl
TART g

1) Acetylene / LRI NG
2) Hydrogen / B'IE@TYFT
3) LPG / T T it

4) Methane / {134

Q 82) Ceramic recuperators compared to metallic recuperators for the same duty / HHH Eaukcy fom EJTE,Rﬁ
ReFuReR Bt o | SR Reex .. ... ... garg

1) are lighter / gl

2) are less costly. / &H HgIM

3) occupy more space. / SUIGI SIg ot %

gggv%gher pressure differential between fuel gas & air side. / TJdT T 3R TR RS & d1d =M ald
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Q 83) Hollow refractory bricks are made by / Trad Rbact é_cf ........... 9g-qd ik %

1) Slip casting / &g wiRen

2) hand moulding / 38 T

3) extrusion / YRIGIT

4) pressing/machine moulding / ORI A=fig M

Q 84) Roof of a basic electric furnace is made of bricks. / HcT _{@ﬁ%?ﬁ AT DI BA. ... ... 9
LRGN

1) chromite / EL B

2) silica / FfeTapT

3) none of these / sﬂfr I ab;]é T‘|ng

4) superduty fireclay / W RRET

Q 85) Fireclay bricks are not used in the | TR é% HISTT......... s qﬁ?ﬁ?ﬂ %

1) beehive coke oven. / FIRECKACREICR]

2) combustion chamber of B.F. stoves. / T\‘ﬂ'Q'Uﬁ Eckal Qo P&l
3) coke oven regenerators./ PId 3MaT RoRex

4) by-product coke oven walls. / §T8 UISde Pk 3fa ard

Q 86) Which property of refractories is the most important for top section of the blast furnace? / A TR &

< W & forg Rdbaeier 1 &1 o7 3ifdy Ayl §

1) Resistance to abrasion. / ST & Ufa ufaRiy

2) Resistance to slag penetration./ T YIY H ﬁm gfeRiY

3) Resistance to corrosion by slag. / T gRT &9 & Tfd ufeRly

4) Stability of volume at high temperature. / 3= dIUHIT U AT P RRCT

Q 87) Fusion point of an acidic refractory material is / i Ribaest Aefad &1 TaHis

1) not affected by the addition of basic oxides. / YRDIT 2SI I THIAd ol gl
2) always more than 2500°C. / HRIT 2500°C ¥ STTGT BT

3) reduced by the addition of basic oxides. / YRDIT JHFTZS & dIo I geT

4) increased by the addition of basic oxides. / &R® T HIGAZS P Aol J TG

Q 88) A steel member used in the furnace construction to take the thrust of the brickwork is called / %‘c’ % Eb—R?f f[

it o o foTg TR o FmTr & 1 1 el AvaRk 1 WA Biell &

1) breast wall / S ald
2) armouring /

3) buckstay / The

4) baffle /

Q 89) During combustion of gaseous fuels, deficiency of air / T_fig _5:?47‘[ FTETdH aRM ag P DAl

1) tends to shorten the flame. / F‘ﬁ I HH B! %
2) does not affect the flame length. / Nkl ?‘Wlé P JHIAd To Bl %

3) lengthens the flame. / k3l aa'cﬁ %
4) increases the flame temperature. / o & IgHH BT a_dl?‘ﬁ %

Q 90) Improper storage condition results in the weathering of coal and spontaneous combustion, which increases

its / TTTd TRl fRUTTal J HIger 3R Wd Uafad e Pl & sl g e 3ad . ......... e | A o

1) caking index. / CAERIERE]

2) yield of carbonised products. / aﬂﬁ% Jdlq T d-T

3) friability & oxygen content. / JIHITUX 3R 3RS &t A=
4) calorific value/3SHIG A

Q 91) Gross and net calorific value of a fuel will be the same / 'E:f?Ff BT IDhd 3R s IS AF IHH 6 1
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1) if its ash content is zero. / gfe Eﬂ% IRG BT AT i) _E?f

2) if its hydrogen/hydrogen compound content is zero. / afe 39dh 6I$§S\I\:1"| / 6I$§\I\>1"I e 7T I3 8l
3) If its carbon content is very low. / ‘Clﬁ DI CACREIE dggd hyH _E?f

4) under no circumstances. / ot ot aRfRufa A :|_E>pf

Q 92) Walls, roofs & combustion chambers of annealing furnaces are made of bricks. / Q:i feft

AT B SIaR, A MR ST DY . ........ EEEAEEI IR

1) mullite/ A<

2) silica / FIfeTamT

3) carborundum / HIVS

4) high duty fireclay / 3 €I HTAIR &l

Q 93) Firing temperature is minimum (1250-1400 °C) for bricks./........ g? & o wrafT
TTIHM A (1250-1400 °C) BIT ©

1) fireclay / TR

2) silica /

3) direct bonded basic / & 3TEY &RIg
4) magnesite /

Q 94) Super refractories’ are made from pure / JUX Rthaedt &t ] = A g

1) borides / CINES]
2) Carbides / BTEZS
3) Oxides / 3TRITSS
4) Nitrides / G2l S

Q 95) Firing temperature of magnesite bricks is about °C./ ﬁﬁms‘d 3¢ H1 BN d9qH [SULRIN

1) 800-1000
2) 1600-1800
3) 1000-1200
4) 2400-2600

Q 96) The resistivity of the conductor depends on / FSIR Pt ufoRiyemdr g o AR St %

1) area of the conductor. / HSIC DT &=
2) length of the conductor. / P I CARSELR]
3) type of material. / g &1 IPR

4) none of these. / s:ﬁ I ﬁ% :rEﬂ
Q 97) A semiconductor diode is used as / Y PSR SIS HI TN .. ....... & =0 H gl %

1) An amplifier / THATHRR

2) A Rectifier / TFEHRR

3) An oscillator / NG

4) A voltage regulator / mw

Q 98) A semiconductor diode has forward resistance of order of / JHidhsIR SIS H . . . .. P BT 30T UfeRY

GRS

HkQ
2)Q

HMQ
4) pQ

Q 99) The amount by which the actual size of a shaft is less than the actual size of mating hole in an assembly /

I8 T forads gRT Tl H XU &1 aRafad SHTHR AT gidt & IRafad TR I HH gIdT 8
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1) Clearance / FIRT
2) Interference / m

3) Allowance / YA
4) none of these / LK) aﬂé BE|

Q 100) A negative allowance will always result in a fit. / FUMHD ARG Y GARM .. ... ... fire g
1) Clearance / FIRT

2) Interference / :

3) Transition / E:Iﬁm:[
4) All of these / T T+

Q 101) A shaft rotating in a bushed bearing is good example of / gRI s o 'El,'qef aiefTRMUS ... ... 2l
3T SATERU 3

1) Sliding fit / TS fthe
2) Running fit / I ftbe
3) Push fit / %1 ftbe

4) Driving fit / G317 fthe
Q 102) Cam lobe hydraulic motor is a type of / %q NIGS BE@W A ﬁ'ﬂ YDhR BT Eﬁ?ﬂ %

1) axial hydraulic motor / TRIgd B'I—s'@ﬁ’la? e
2) orbit hydraulic motor / 3Rde E'IE@W e
3) gear hydraulic motor / R _Eﬂ%@m e

4) radial hydraulic motor /feaa B@m e

Q 10%) Motors used in high speed applications have / 3= mMa® G'Ia'mﬁ e Ugad BHAHIRH . ........
ol

1) high torque with high speed / 3= T & 1 3 <l
2) low torque with high speed / 3= Tt & e g ad
3) high torque with low speed / g fa & g 3= A

4) none of these / 3_'1'3[ I aﬂé :I%}f
Q 104) How is power transmitted in fluid power systems? / god UTdR ey ¥ uraR ford R uRfvd it %

1) power is transmitted instantaneously / GTaR qRd IR g §
2) power is transmitted gradually / UTdR ShHRY: IR gl §
3) both a. and b. / a. 3R b. I

4) none of these / Y aﬁ% ol

Q 105) Which of the following is used as a component in hydraulic power unit? / fFofafeada EaCkl
BZSITere UTaR gfe H Ueh Uedh & =4 H SUTNT fhar oirar g2

1) pressure gauge / G9Id BICECIRE]
2) feeler gauge / BIeR TS

3) valve / dled

4) reservoir / SR

Q 106) Which type of motion is transmitted by hydraulic actuators? / EE@W UdgUc gRT 59 yoR & = d
gl g

1) linear motion / g a1

2) rotary motion / et T

3) both a. and b. / a. 3R b. I

4) none of the above / E:FET T ﬁ_sc qﬁf

Q 107) In hydraulic systems, /E’E@W Rren d

1) the mechanical energy is transferred to the oil and then converted into mechanical energy / TifAd Il BT
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TR 37T H GI ¥ SR 9% 91 JifAe Ioff § uRac g

2) the electrical energy is transferred to the oil and then converted into mechanical energy/ ﬁ?ﬂﬁ Il BT TRET
3ifae & i1 ¥ 3R 39S aTe Fifie I H uRad g1 @

3) the mechanical energy is transferred to the oil and converted into electrical energy/ TifAe IS BT YR
e H e ﬁmm%ﬁggﬁmﬁqmm%

4) none of the above / ERLE

Q 108) Which type of pump is used for lifting water from the ground surface to the top of the building? / "i&[ P

a8 T HR P I0 RR R uF 331 & o 5 TR 7 U gt ghefr 8
1) centrifugal pump / @WW

2) turbine pump / cXd éq aq
3) submersible pump / gerfdfed
4) all the above / qaft

Q 109) The fluid property, due to which, mercury does not wet the glass is / %9 [ dg U % HRUTURT
A o T e @

1) surface tension / § d-ld
2) viscosity / gdl

3) cohesion / GG

4) adhesion / 3THS

Q 110) Which of the following centrifugal pumps has higher specific speed than the others? / PAUPR &
TS UY H 31 UY bt 37U Iy i IR Bl §

1) Axial flow / TaTd Gl

2) Radial flow / ST Tl

3) Mixed flow / T3 ot

4) All have same specific speed / Tt ot gue fafery afa g %

Q111) pump is also called as velocity pump. /. ....... UY &I Jaifer ug ot W?f %

1) Reciprocating / TR T
2) Rotary displacement / e<] f&TeTHE
3) Centrifugal / YSTRITA

4) Screw / ¥h

Q 112) Which pump is more suitable for an application where very high pressure is required to be developed at

moderate discharge?/ﬁ:[wq"qaﬁ \?'HCI'CI}FT%%E H%WWWHWWWWWW%
AT SOfd BT 8

1) Reciprocating pump / T 4y
2) Centrifugal pump / @_@W ug

3) Turbine / CXIg

4) None of the above /_i":iﬁ @ Ebﬁ—ic :i—Eﬂ

Q 113) Total Quality Management (TQM) focuses on / d UGl UsE (?ﬁaQIQID 9 &R e Heltd FRaT

1) Employee / FHHARY

2) Customer / UTgh

3) Both (a) and (b) / (a) 3R (b) Gl
4) None of the above /STH E PIS e

Q 114) Which of the following is responsible for quality objective? / 0TI G%QCI G forg EAL AR RAD) gar %

1) Top level management / Y TR BT UeeA

2) Middle level management / HE ¥R BT UeIE
3) Frontline management / 37 U&I¢

4) All of the above / it

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=58 14/21



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=58

Q 115) helps organization reduce employee turnover and absenteeism. /. ...... ... q UGl Bt
T 3R SFUTRUTA Y oA PR H FeTard e &

1) Job design / Sid f&ee

2) Training & development / URrefor 3R faer
3) Wage revision / qﬁl@“\ﬁ GEICE

4) All of the above / gt

Q 116) Class-A fire consists of fire due to / goft - ol A A ST BRE . ... .. It e

1) Wood / i a1
2)0il/dd

3) Transformer / m
4) Chemical / I

Q 117) The following class of fire occur in electrical equipment / ﬁ?{gﬁm T forg 9O @1 ST ATt %

1) Class-A fires / Uit — & P ST
2) Class-B fires / guft — G BT AW
3) Class-C fires / ot — T BT AT
4) All of these / T T+

Q 118) Hot working process is the plastic deformation of metal which is carried out / gle afh mag Yrd 1
v fagpfa § o g grr far smar &

1) at temperature below the recrystallisation temperature / Y fopeea auHE ¥ e dgHHE W)
2) at temperature above the recrystallisation temperature / G forea Ao 9 SWR dIHE R
3) at temperature equals to boiling point of water / dg dTJHIT S U & HYATD & SRIR gl %
4) none of these / E:I'ﬁf @ aﬂ‘s‘ :lﬁ

Q 119) Castings are usually / JTHI: FHIRET B %

1) costlier than forgings / Ak &l

2) cheaper than forgings / PIol ¥ T

3) at the same rate as forging for similar metal / FHIT YUTq & forg BIRHT & 9 RN
4) none of the above / Eqﬁ I ﬁ_st '_‘|B°T

Q 120) Which is closest to the purest form of the iron? / IBEE IR R[dH NEEASCTA]

1) Cast Iron / GcIdl I

2) Wrought Iron / [T IRRA
3) Pig Iron / TORT SR

4) Steel / A

Q 121) In rolling, the pressure is maximum at / X A ... TR ald 3fIHaq Eﬁ?ﬂ %

1) Entrance / o

2) Exit / &g

3) both the extremities / T BRI TR

4) at a point somewhat between the two extremities / Tl BRI & g [l /M )

Q 122) Which of the following is not improved by cold working of metals? / YT & Dics afp 9 Y JUR ol

G

1) Hardness / FHSRA

2) Toughness / I¥&ddl

3) surface finish / 9dg CARCIEEl
4) corrosion resistance / &4 TfeRIY

Q 123) Which of the following not a hot working process? / ﬁH " 3'\|J_C.r T U fﬁw '_‘%}f%

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=58 15/21



7/26/2019

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=58

1) Extrusion / YRIgSI
2) Drawing / QTS

3) Embossing /

4) Piercing / spital

Q 124) The water temperature should preferably be less than  degree Celsius. / U SIamH = . . S
AfTd I HH g1 AMeY

1) 10
2)15
3)25
4)30

Q 125) A rainfall may be classified as acidic if its pH value is less or equal to / auf T 3reity auf & a”m hY
THd g ARG IUPTUCI AN ... ... Y HH YT RIS &

1)5
2)4
3)7
4)6

Q 126) The gas which may cause explosion in sewers, is / g 19 fored iR # fawwie g gpar %

1) Ammonia / ST
2) Methane / g

3) Carbon Dioxide / BTITSIZAHFAZS
4) carbon monoxide. / PIa ﬁﬁaﬂs@:

Q 127) is used for casting? / FIET P 1%’1? .......... BT TN Eﬁ?ﬂ %

1) Induction Furnace / TSRMH B
2) Cupola Furnace / m TR

3) EAF /3 UU®
4) Both Induction Furnace & EAF / S8R A9 3R § T U gl

Q 128) Which one of the following joint have corrosion resistance? / g o 3 fog Sae # e ufeRiy grar %

1) Bolted Joint /@E’W

2) Riveted Joint / fde Sargc
3) Welding Joint / A&7 Sarge
4) All of these / gt

Q 129) Full Form of MCB is- / TH §t ft T T A0 §

1) Main Circuit Break / 9 gfdhe 96
2) Main Circuit Board / T gfPeas
3) Miniature Circuit Breaker / feeR afdhe s

4) All of these / T
Q 130) In overhead traveling cranes / 3UX EREEINERE

1) continuous duty motors are used / Hdd Sgﬁ Hiex &1 YIRT Eﬁ?ﬂ %

2) slow speed motors are preferred / effet 71t o Hex &1 URiG fohar ST %

3) short time rated motors arc preferred / e E'E‘qiﬁg Hiex B g foar Sran %
4) none of the above/ﬁzlﬁ ) ﬁ_ic '_ﬁ)[

ILevel 1 Answer key
Question . Question . Question . Question . Question .
No. Option No. Option No. Option No. Option No. Option
1 4 31 1 61 1 91 2 121 4
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2 32 62 92 122
3 33 63 93 123
4 34 64 94 124
5 35 65 95 125
6 36 66 96 126
7 37 67 97 127
8 38 68 98 128
9 39 69 99 129
10 40 70 100 130
11 41 71 101
12 42 72 102
13 43 73 103
14 44 74 104
15 45 75 105
16 46 76 106
17 47 77 107
18 48 78 108
19 49 79 109
20 50 80 110
21 51 81 111
22 52 82 112
23 53 83 113
24 54 84 114
25 55 85 115
26 56 86 116
27 57 87 117
28 58 88 118
29 59 89 119
30 60 90 120
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Q 1) In ultrasonic level gauge, the ultrasonic source is placed at the/ &m GEREISE:S 31?;:@% T
EUIRSGIE

1) Bottom of the vessel containing the liquid/ %d gad UTA Faad
2) Top of the vessel containing the liquid/ %9 Y UTA & AR W
3) Middle of the vessel containing the liquid/ §d gard T & G &
4) Far from the vessel containing the liquid/ %9 Ydd Ul g X

Q 2) An instrument with high precision implies/ 3= U Q%I@(‘l dTIell U 3UD T X[ 8-

1) High accuracy/ 3= géldbar

2) Low accuracy/ g gdiear

3) Does not imply anything about measurement accuracy/ HIU qpdai b IR H DS e A %
4) none of these/ i:l'af I aﬁ‘s‘ :lgbf

Q 3) Earth wires are made of/ S AR BARIETS] %ﬂ?ﬁa

1) Copper/ GIE]

2) Aluminium/

3) Iron/ A

4) Galvanised stranded steel/ dftd e‘f%g T

Q 4) When transistors are used in digital circuits they usually operate in the/ STd E ol ®l fefored ?Iﬁ??ﬂ o

TN P TS AINMIRT A HFH A G|
1) active region/ by &=

2) breakdown region/ B SIS &

3) saturation and cutoff regions/ ﬂ?ﬂﬁf 3R He3iTw &=t

4) linear region/ aw &

Q 5) In which of the following joint, pipes do not have sockets or spigots?/ RECEACE Gﬁ‘s’ T, gy § Hidhe
3R e =18t g

1) Tyton joint/ CIgc Gﬁ‘s’

2) Coupled joint/ Qﬁilﬁ Gﬁ@'

3) Spigot and socket joint/ %I'rh_c' 3R gide th
4) Expansion joint/ fowr th

Q 6) Roof of a basic electric furnace is made of which of these bricks? / W ﬁ?{ﬁ 'v'-l?f 3 Bd 58 4 fpd
gc 3 Affa g g2

1) superduty fireclay/ W RRE

2) silica/

3) chromite/ Ebﬁ'qlg_c'

4) none of these/ _s"Taf J ?ﬁg ER|

Q 7) The ratio of work-done per cycle to the stroke volume of the compressor is known as/ ufd s Y Eauks|
PR EGIRAUBISAUE  TH I TS g

1) Compressor capacity/ PHUTR &

2) Compression ratio/ G8d 3{JUTd

3) Compressor efficiency/ PHUTR G&fel

4) Mean effective pressure/ 4 gyrdt ard

Q 8) The process for steel making being used at Rourkela steel plant is/ RREE | g 9ad EEGNERIEKD
fore i g1 areht ufshan &-

1) L-D process/ Q?T—@[ ufshar

2) Duplex process/ SWia Ufehal
3) Electric process/ {aggq Ufshar
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4) Open hearth process/ Qfﬁ 3—@ gishar

Q 9) The hardness obtained by hardening process does not depend upon/ WUT gfehar ¥ U Tedl W

R T 8

1) Carbon content/ CACREEIEN

2) Work size/ FT AMHR

3) Atmospheric temperature/ aTEP:I—S'?ﬂ"q GIEEIE]
4) Quenching rate/ RHT X

Q 10) Why are Inductors used? / w BT U 1 fpar Srar %?

1) maintain steady flow of current and oppose any fluctuations / HRC & FRR 7aTg &I §9718 39 3R fopadt oft
JAR-TGIA P Ry TR & g

2) change AC to DC /Q@Hﬁﬁﬁﬁﬁ%ﬁq

3) change DC to AC /ﬁﬂ’ﬁ@ﬁﬁﬁ%ﬁq

4) all of these / I8 Tt

Q 11) In how many configuration can a transistor be used? / Y EA'EIEQ 1 fob fa=ara o IUgT fobar S
Tl 52

13
2)4
3)2
41

Q 12) What are sub-duplicated ratios of a:b? / a:b DI W—gﬁ?’@ﬁ STUTd =T &

1) Va :\b
2)a?:b?
3)a2:b/2
4)2a:2b

Q 13) The number of coins required to form a right cylinder of height 12cm and diameter 6 cm, when a coin is

2.4cm in diameter and 2mm thick : /WWW2.4%W@TZM%@W%W l2ﬁm\3ﬁT6
It U & T e KSR DI a1 &

1)375
2) 300
3) 100
4) 400

Q 14) How is componendo rule used ifa:b::c: d2/afGa:b:: c:daﬁmﬁ@ﬁmﬁswmmmwm

??

)(atb):b::(ctd):d
2)(a-b):b::(ctd):d
3)(@ab):b::(cd):d
4)(ab):b::(cd):d

Q 15) What is a Fillet? / U Ufg a1 (fthfeeie) aam g2

1) chiseled end / ELIRRN
2) sharp end / GEAGK
3) curved end / dsh R

4) Chamfered /A7HS

Q 16) A car covers a distance of 88km with the wheel of diameter 56 cm. how many times the wheel rotate? / 56

It T & Uy & 1Y UF BR 88 ot o1 g q9 et | | e fova IR gHar 82

1) 50000
2) 10000
3) 48000
4) 21000
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Q 17) The circumference of the circumscribed circle is ? / TRITA ad ARG H

1) 2nR = 2ma

2) 2aR> = 2na?

3)nR =ma

4) 4R = 4ma

Q 18) What is the value of tan 65° / cot 25° ? / tan 65° / cot 25° &M T 82

1

2)0.50

3)\2

40

Q 19) What is angle of elevation? / 3T B0 (T 3 Q?‘Ia'Q'I:D ERJT%?

1) Angle above the horizontal line drawn form observer s eye / qdaee P 3Ra I Afcst 3@ & HUR Wi T
2) Angle below the horizontal line drawn form observer s eye / qdae B 3Ra F aferst @1 & =i dier mar
EaLl

3) Angle above the verticle line drawn form observer s eye / Tdded B 3RE W Y T & SHUR JidT 1T
EaLl

4) Angle below the verticle line drawn form observer s eye / Tagd oI 3G § daeY X@T & 1d Jiar T
DI
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Question No.

Option

1

10

11

12

13

14

15

16

17

18

19

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=58

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=58

21/21



